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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 7887 5 1.2 6 82.8 99.7
2 7887 5.2 2.3 11 47.1 99.7
3 7882 5.7 2.7 13 43.7 99.6
4 7889 5.8 2 9 64.8 99.7
5 7725 3.2 2 8 39.7 97.7
6 7890 5.7 1.6 8 70.9 99.7
7 7874 6.4 3.3 16 39.7 99.5
8 7817 3.6 2.2 9 39.5 98.8

If you are accessing this 
document in a web 
browser and are only 
able to see this single 
page, please download 
the document and re-
open it in Adobe Reader 
in order to fully access 
the exemplar material.
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer AO1 AO2 AO3 Total 
2. (a) (i) Describe why percentile charts are used to measure 


growth.  
 
Award up to 2 marks for a detailed description of why 
percentile charts are used to measure growth. 
 
Likely responses may include: 
 
• they are different for boys and girls 
• the bold line on chart shows the average trend in 


weight and height 
• used to monitor progress and note whether a 


child’s growth is following an expected pattern 
• shows how children are growing compared to other 


children of the same age and gender 
• shows how children are developing proportionally 
• sometimes indicates problems in growth 
 


2   2 


  (ii) Identify one health professional who would use a 
percentile chart. 
 
Award 1 mark for the identification of a named health 
professional who would use a percentile chart. 
 
Likely responses may include: 
 
Any one from: 
 
• health visitor 
• paediatrician 
• nurse 
• general practitioner 
• midwife 
 


1   1 


 (b) Explain what is meant by the term ‘expected patterns 
of growth and development’.  
 
Award up to 2 marks for an explanation of the term 
‘expected patterns of growth and development’. 
 
Likely responses may include: 
 
• refers to the points in a person’s life where 


particular changes are expected to happen/over 
time 


• a person’s growth and development can be 
different to ‘the norm’ for a variety of reasons 


• an indicator of a child’s overall well-being 
• refers to physical development 
 


 2  2 












Sticky Note

This candidate was awarded the maximum 2 marks as they included two points and described in detail, as evidenced by the phrases 'average to compare', 'correct height/weight' and 'not unhealthy'.












1



Sticky Note

The candidate does not describe in detail for the maximum 2 marks but gains 1 mark for ' ... show how much growth has increased by.'












2



Sticky Note

The candidate describes in detail why percentile charts are used to measure growth and therefore gains the total 2 marks.
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2.	 Examples of percentile charts for girls and boys from birth to 24 months.


	 (a)	 (i)	 Describe why percentile charts are used to measure growth.	 [2]


	


	


	


	


	 (ii)	 Identify one health professional who would use a percentile chart.	 [1]


	


	 (b)	 Explain what is meant by the term ‘expected patterns of growth and development’.	 [2]


	


	


	


	


Birth to 24 months: Girls
Length-for-age and Weight-for-age percentiles


98


95


90


75


50


25


10
5
2


Birth to 24 months: Boys
Length-for-age and Weight-for-age percentiles


98
95
90
75
50
25
10


5
2
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Question Answer AO1 AO2 AO3 Total 
3. (b) Explain the benefits of one screening programme offered 


for babies and young children in Wales. 
 
Award 1 mark for naming a screening programme, and 
up to a further 4 marks for an explanation of the benefits 
of one screening programme offered for babies and 
young children in Wales. 
 
Likely responses may include: 
 
Any one from: 
 
• PCHR (Personal Child Health Record) or ‘red 


book’: a national standard health and development 
record given to parents/carers at a child's birth which 
helps monitor growth and development and identify 
problems. 


 
• Newborn Hearing Screening Wales: 


the newborn hearing screening test helps identify 
babies who have permanent hearing loss as early as 
possible.  This means parents can get the support 
and advice they need right from the start.  Screening 
can detect a problem early, before any symptoms.  
Finding out about a problem early can mean that 
treatment is more effective. 


 
• Newborn Bloodspot Screening Wales: 


Blood is sampled and screened for rare but serious 
diseases that respond to early intervention to reduce 
mortality and/or morbidity.  Can reduce the risk of 
developing a condition or its complications. 


 
• Cymru Well Wales: The first 1000 days (F1000D): 


Optimal outcomes from every pregnancy for mother 
and child/children achieving their developmental 
outcomes at age two.  Fewer children exposed to 
ACEs in the first 1000 days. 


 


1 4  5 


 
Band AO2 


3 
4-5 marks 


A very good response which gives a detailed explanation of the benefits of a named 
screening programme which could be offered for babies and young children. 


2 
2-3 marks 


A good response which shows some attempt to explain the benefits of a named screening 
programme which could be offered for babies and young children. 


1 
1 mark 


A basic response which shows little knowledge and understanding of the benefits of a 
screening programme which could be offered for babies and young children. 


0 0 marks 
Response not creditworthy or not attempted. 


  












Sticky Note

The candidate only gained 1 mark for AO3 which was the maximum possible as they did not name a screening programme - the mark was awarded for 'early intervention'.












0



Sticky Note

The candidate fails to gain any marks for this question as there is no naming of a screening programme (AO1), neither have they included any explanation of how a screening programme could be beneficial.












0



Sticky Note

0 marks awarded.
This candidate failed to name a correct screening programme offered for babies and young children in Wales, and neither did they attempt to explain how screening programmes can benefit babies and young children.  Even without naming a programme and giving just one benefit, the candidate could have gained 1 mark; unfortunately, this response did not meet the basic criteria of band 1 so could not be awarded any marks.
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	 (iii)	 Emotional 	 [2]


	


	


	


	


	 (iv)	 Social	 [2]


	


	


	


	


	 (b)	 Explain the benefits of one screening programme offered for babies and young children 
in Wales.	 [5]
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Question Answer AO1 AO2 AO3 Total 
7. Adam is 16 years old. His parents separated last year. 


Adam now lives with his mother and misses spending 
time with his father who is a positive role model in his 
life. Adam’s school report comments on his lack of 
resilience, particularly when things go wrong. He has 
started missing school, has stopped playing rugby and 
socialising with friends. 


    


 (a) (i) Identify what is meant by the term ‘resilience’. 
 
Award 1 mark for correctly identifying what is meant by 
the term ‘resilience’. 
 
Likely responses may include: 
 
An individual's ability to successfully adapt to life tasks 
in the face of social disadvantage or other highly 
adverse conditions, such as family or relationship 
problems, health problems, workplace and financial 
worries. 
 


1   1 


  (ii) Explain how a lack of resilience may have an impact 
on Adam. 
 
Award up to 4 marks for an explanation of how a lack 
of resilience may have an impact on Adam. 
 
Likely responses may include: 
 
• he may not want to try in school/not engage in 


class/not complete his homework/show a 
disinterest in school life 


• he may feel threatened  
• he may feel stressed when facing different 


challenges 
• he may fail to solve problems in a reasonable 


manner 
• he may find it difficult to be assertive and show 


initiation  
• he may not be able to display empathy to others 
• he may find it difficult to set realistic goals in life 
• he may have a negative outlook on life 
• he may find it hard to be independent and not be 


able to ask for help and support from others 
• he is likely to respond to stress by developing 


anxiety and depression 
 
Credit any other reasonable explanation of how a lack 
of resilience may have an impact on Adam. 
 


 4  4 
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Question Answer AO1 AO2 AO3 Total 
7. (c) Describe what is meant by the term ‘growth mind-set’. 


 
Award 1 mark for an appropriate description of ‘growth 
mind-set’. 
 
Likely responses may include: 
 
The belief that someone can learn and improve by way 
of a constant culture of high expectations and quality 
feedback. 
 


1   1 


 (d) Discuss the ways in which Adam’s school could help 
him develop a growth mind-set and become more 
resilient.  
 
Award up to 6 marks for a discussion of the possible 
ways in which the Adam’s school could help him 
develop a growth mind-set and become more resilient. 
 
Likely responses may include: 
 
• help develop his emotional well-being by giving 


him positive experiences 
• teach him how to engage in his academic and 


learning environment in order to be more resilient 
• make him feel like he belongs and has future goals 


which will help him cope better when it comes to 
overcoming life obstacles and have a growth rather 
than fixed mind-set 


• help him bond with a positive role model in the 
school which could help him feel as though he 
belongs – this could help him become more 
resilient/have more ‘grit’ 


• help him navigate through difficult times - schools 
have a significant impact on a young person's 
perception of school, but can also have an impact 
on their life and become a second home that is 
safe and secure 


• PSHE education can be an important part of 
building resilience/higher self-regulation 


• schools/educational settings can use a range of 
ways to take action, for example, pupil voice, 
counselling 


• out-of-school clubs and provision of out-of-school 
activities and other resources for young people 
which are completely separate from education are 
vital, including opportunities to take part in creative 
activities, music, sports and volunteering 


 
Credit any other reasonable discussion of the ways in 
which Adam’s school could help him develop a growth 
mind-set and become more resilient. 
 


  6 6 
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Band AO3 


4 


6 marks 
A very good, detailed discussion which shows clear knowledge and understanding of 
the ways in which Adam’s school could help him develop a growth mind-set and 
become more resilient. Response is well structured and clearly expressed, with 
accurate use of terminology, grammar, punctuation and spelling. 


3 


4-5 marks 
A good discussion which shows knowledge and understanding of the ways in which 
Adam’s school could help him develop a growth mind-set and become more resilient. 
Response shows appropriate use of terminology and is adequately expressed, 
generally well structured, with reasonably accurate grammar, punctuation and 
spelling. 


2 


2-3 marks 
A basic discussion which shows some knowledge and understanding of the ways in 
which Adam’s school could help him develop a growth mind-set and become more 
resilient, and identifies several ways the school could help. Response shows some 
use of terminology and structure, with some errors in grammar, punctuation and 
spelling.  


1 


1 mark 
A limited discussion which shows some knowledge and understanding of the ways in 
which Adam’s school could help him develop a growth mind-set and become more 
resilient, and identifies one or more ways the school could help. Response shows 
basic use of terminology and some evidence of structure but with errors in grammar, 
punctuation and spelling. 


 0 marks 
Response not creditworthy or not attempted. 


 
  
















Sticky Note

The candidate gained 2 out of a possible 6 marks as they gave a basic discussion which showed only some knowledge and understanding of the ways in which Adam's school could help him develop a growth mind-set.  The answer identifies 'setting ... goals which are easy to achieve' and 'build resilience ... by working hard'.

Quality of written communication is tested in responses to this question and the candidate shows only some use of terminology and structure with some minor errors in grammar and punctuation, reflecting Band 2.
















2



Sticky Note

The candidate gives a basic discussion which shows some knowledge and understanding of the ways in which Adam's school could help him develop a growth mind-set and become more resilient, identifying only two ways: ' ... encouraging him to do well and support him' and ' ... ' ... cared for ... '.
In terms of quality of written communication, the response shows some structure and use of terminology.
















2



Sticky Note

The candidate gives a basic discussion which shows some knowledge and understanding of the ways in which Adam's school could help him develop a growth mind-set and become more resilient by stating ' ... encourage him to get back into playing rugby ... ' and ' ... introduce Adam to new people ... '.
In terms of quality of written communication, the response reflects band 2 by showing some structure and use of terminology.
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7.	 Adam is 16 years old. His parents separated last year. Adam now lives with his mother, and 
misses spending time with his father who is a positive role model in his life. Adam’s school 
report comments on his lack of resilience, particularly when things go wrong. He has started 
missing school and has stopped playing rugby and socialising with friends. 


	 (a)	 (i)	 Identify what is meant by the term ‘resilience’.	 [1]


	


	


	 (ii)	 Explain how a lack of resilience may have an impact on Adam. 	 [4]


	


	


	


	


	


	


	


	


	 (b) 	 Adam has been encouraged to go back to playing rugby.


		  Explain how Adam’s mental health may benefit from him engaging in regular physical 
activity.	 [4]


	


	


	


	


	


	


	


	


	 (c)	 Describe what is meant by the term ‘growth mind-set’.	 [1]
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	 (d)	 Discuss the ways in which Adam’s school could help him develop a growth mind-set 
and become more resilient.	 [6]
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